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SOCIOLOGY / $&re ago
Paper - II1 / $38 - 11
1. The features of Husserl's | 1.  Somises BE) DR SonoBodS
Phenomenology come out through : o¥emen B2 508 SeorSAram :

(@) The concept of psychologism @ & S‘ED"E 6% DRSS
) 8 nloir «f aSB TS

(c) & %S oS a8

(b) The idea of intentionality

(¢} The notion of ‘epoche’

(d) The transcendental ego @ 8 @Jns“)?ooaoe;,g P

(e) The concept of ‘Lebenswelt’ © & S°3n)°§ o5 655?05%_‘5:
Codes : S~

(A) (), (@), (e) only A (a), (o), (&) SomesH

(B) (@), (d), (e) only (B) (b), (@), (e) Sor(&5D

(©  (a), ®), (0), (d) only © (), b), (©, (d) SHSDH
D) (a), (), (¢), (d) and (e) D) (@), (), (©, (d) B (e)

2. Choose the correct answer based on the | 2. (BotS NS (HHMES (A) B T;HPH (R)o
two statements, Assertion (A) and SERSOMT $B8S 5‘53,{;.,@;21 DOHE R -
Reason (R) given below : =

(BPEFES (A) :
Assertion (A) :

PTDHTOR OO TBE HoRol écé@é’s

Phenomenology is a philosophical SRS ay Derde.

method of inquiry.
5. .

Reason (R) : & (R) :

Dol 30 SErasdich Fost

'Ethnomethodology 1s a sociological

approach towards inquiry. SO A DS,

Codes : gsg‘b :

(A) Both (A) and (R) are correct (4)  (A) S8 (R) Botd 8853

(B) Both (A) and (R) are wrong (B) (A) %80 (R) Bot> $BSD v
(C) (A) is correct, but (R) is wrong (C) (A) %238, 50 (R) $3%56 w0
(D) (A) is wrong, but (R) is correct (D) (A) 3336 e, =0 (R) 5350
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‘Lebenswelt’ means :
(A) Life-world
{(B) World-view
(C) Life-reality
(D} Real world

“The Structure of the Life World’ is
jointly authored by :

(A) Alfred Schutz and Thomas
Luckmann

(B) Peter Berger and Thomas
Luckmann ’

(C) Alfred Schutz and Peter Berger

(D) Erving Goffman and Jacques
Derrida .

Who among the following have argued
that ‘man’s self-production is always a
social enterprise’ ?

(a) Harold Garfinkel

(b)y Alfred Schutz

(c) Peter Berger

(d) Thomas Luckmann

(e) Erving Goffman

Codes :

(A) (a)and (b) (B) (¢} and (d)
(C) (c) and (e) (D) (b) and (d)

The concept of Bio-power of Michel
Foucault includes :

(A} Discipline, Power and
Punishment

(B) Discourse and Discontent
© Knowledge, Power and Pleasure
D) _Content and Discontent

Paper-III
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TBSRe @08 ©¥o :
(A) #3535 (HHoso
(B) (arHodE g0
(C) &S avdPo

(D) R0DE [HHoso

‘® @%5 o & T a’aéeé’ &3 5o Sdomsen :
(A) ©@)E ey HBI S argEHS
(B) He5 ags ook it ergEs
(C) ©@)F 2 oo b =85

(D) IBOR MHEARS Sk 28R BOTe

B8 Do) JyaHo - HY BIO JEYe
a8 BPRS obbRE 0l THODVHG & Eod
T08° 258 7

(a) 35°ove§ m@go’éef

b) ©B)E Y

() &b ogh

d) &S ermEHa

(&) BR AHHS

88 ¢

(A). (a) 0o (b)) (B) () B3 (d)
(C) () DBAD (e) (D) (b)B3D (d)

3§ Feed @BoE), £5-38 (Bio-power)
EAN N éégdﬁn;ﬁ& QOBLD :

(A) (ESoBEe, ¥8 o B

(B) %550 (AF°G)) Hocho edod)
(©) oo, ¥8 Hdako edoo

D) & (BoBotS) HBs wdoL

C
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7.  Match the following : 7. 1808 8 285 HIw

Comment on Modernity Thinker VHVEBED Ty éésﬁé
(a) Holocaust/Unfinished (i) Durkheim (a) W@@% / (i) SoRrD
Project

o0y R
(b} Commercialization  (ii) Anthony

Giddens (b) a‘g&éééa‘a () oS8 mgsg
(¢) Run Way (1i1) Habermas (©) é?g Eﬁyéo (i) 2858
5
(d) Differentiation (iv) Karl Marx ( )
(@) 50 (iv) 5§ Sr8)
Codes : (BSBEEGES)
(a) (b) () (d) 555.‘3':
(A (1) @) @) Gv) @ (b)) (© (@)
(B) (i) @il @Gv) @ Ay @) @G 1) @Gv)
© @) @ G i) el )
L € Gv) @ @) (i)
@) G v @ O ® G ) @ O

8. ‘Epis;temological Break’ differentiated | 8. ‘d%Psrer2sd B85 o336 58 Gy Ko

between : B 05600 :

(A) Marxism and Neo-Marxism A SropaS D60 DSBS

(B) Young Marx and Matured Marx (B) oSoh $r8) H8aIo 3);_5y§ S8

(C) Marxist Theory and Conflict (C) éy&@é ?om;oéo Bk Jopgese
Theory s ?ota;oéo

(D) Marx and Engels (D) &,5@ $580%0 330?,5“)

9. ‘Reading Capital’ is contributed by : 9. B&ohR S°§2)é.36’ 5D0N0H D% ?

(A) Louis Althusser (A) eroarr oddhab

(B) Antonio Gramsci (B) oS5s@r [rrod

(C) Habermas (C) SeabHQ

(D) Alexander (D) worpotsd
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10. Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Multidimensionality is not the best

known expression of Alexander’s

synthesizing ambition.

Reason (R) :

It is a presuppositional synthesis aimed

at breaking analytical impasse.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of
(A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

11. ‘There is no out-of-context’ (il n'y a pas
de hors-texte) is the popular assertion
advocated by :

(A) Fredric Jameson
(B) Baudrillad

(C) Louis Althusser
(D) Jacques Derrida

12. ‘Breaching Experiments’ were
conducted by :

(A) Habermas _

(B) Michel Foucaulit

(C) Harold Garfinkel

(D) Anthony Giddens
Paper-II1
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(Bod ad)S (BBISS (A) 2855 TS
(R) © sgedorn IS SSrGeaeR)
Do5siod :

(BOES (A)

IV S0JIrwo (@%@_335&’15‘5@)
©Brpotst G SoFsie edad FEREDI
28585 S0,

HD (R) :

20 aéﬁwééé B8R0LSD e £°F o0
égsﬁ 2.8 q“g)“é‘s—éon)avééé@ss R¥o@eisam.
565“) :

(A) (A) 585 (R) BoH Jerd SHBckw

(A) © (R) 35BS DS6e

(A) 58050 (R) BotH a8, 50D (A)
SH(R) $BS DS5Bes 5

(A) dezo, =D (R) dzo =58
(A) Deso =%, 52D (R) Jeso

(B)

©
(D)

BE &f & 0HS-0H-5SBFY (There is
no out-of-context) ©% (HEwy [PELSDH
DHBT BOSDESD ?

(A) 588 BDDS
(B) ear@erd

(C) eoroar odderd
(D) 3% QB

‘62050 RAPPLY’ D58 DEFosaTRoD :
(A) HabHR

®B) DHJS P’

(O rdg rdods

(D) «38% AR,
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13. Which of the following work is not | 13, (2o DR Hogres® BBmes® Komogo
associated with Derrida ?

828 ?
(A) Speech and Phenomena (A) §°J 5 @of Hardoae
(B) Writing and Difference (B) Qe‘Soﬁ ©ok 3@35‘)
(C) Ears of the University (©) a@ga o5 B GSAJD@‘{)BQ&S
(D) The Post Card D) & gs% =8

14. Habermas summarized the social action | 14. PSrRE IG5 abHd & o

as: @éé&o&méﬁo :

(a) Tautological (a) ereCerREdsS

(b) Teleological (b) BOHerBES

(¢) Normative (c) (BSreds (a‘B&éﬁS)
(d) Dramaturgical (d) EDess

(¢) Communicative () E5rREBS

Codes : gGEJ :

(A) (a), (b), (c) and (d) (A) (@), (), () Sodc (d)
(B) ), (© and (d) (B) (), (c) Basw (d)
© (@, (d) and (e) (C) (o), (d) 0B (e)

(D) @), @), (d) and (e) (D) (b), (c), (d) SoBSS (e)

156. ©o&d AGR) G 8tHRESD Jowofods
DZNeass® DYBore SBYoJDED wowven :

(a) IDZ)Sorr eHws® aF Ioiay
é&a;:éo

(b) oo BN Piee 303&))
(€) ®J8S FOIJS diro(BE a’xg'é’a:en
(d) HoeSPS femo

15. The pervasive themes in Anthony
Giddens analysis of Modernity are :

(a) Rampant technology
(b) Separation of time and space
(¢) The disembodying mechanisms

(d) The reflexive character

Codes : gsE:D:
(A) (a), (), (0 (B) (), (), (d) (A) (a), (), (© (B} (a), (c), (d)
(C) (b), (c), (d) D) (a), ®), d) (C) (b, (0), (@) (D) (a), (b), (@)
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16.

17.

18.

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

The duality of the structure is not the
central of structuration theory.

Reason (R) :

The concept of practice plays a pivotal
role in structuration theory.

Codes :
A)
(B)
©
)

Both (A) and (R) are correct
Both (A) and (R} are wrong
(A) is correct, but (R) is wrong

(A) is wrong, but (R) is correct

Structuration theory examines :

(A) Structure, function and

interaction
(®)
(©)
)

Structure, agent and interaction
Structure, duality and interaction

Structure, and

interaction

modality

Who is the author of the book “The
Consequences of Modernity” ?

(A) Anthony Giddens
(B) David Harvey

(©)
(D)

F. Fukuyama
Daniel Bell

Paper-111
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16. (08 ad)d (HOPES (A) SO D

17.

18.

(R) © sgrdomr DI SJ3egeae)
NoHE S :

$83r5S (A) :

NGB @) ErotsE edb Agon dioposo
) (Sprarodo 505,

5% (R) :

K)@&édﬁa ?om;oéoés 835560 O gPES HEPS
RS ABER0d.

§%, :
(A)
(B)
(©)
D)

(A) 565 (R) Botd $BSI

(A) S8 (R) Botd IBD =%
(A) $B58, o0 (R) 3886 5%
(A) 3B%6 =25, 50D (R) 3856
NByB8Be Brposo HAD BOFK0B :

A) I8, Beedgo Hdake DB S8
(B) 88, DBotS S8 BEYY S
(C) B, Brothd SO SEYY 385

(D) 36&8, B’ché (RreedHB) B é6ﬁ°)6
756§

‘D VB G 5539(.‘.6&&5” o3 o
Blonsd O ?

&) ©o§*0 AZY)
(B) ©WIE STy

(©) 9. HHosedr
(D) TAHS BS
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19. Match the following :

(@)

(b)
(©
d)

Concept Author
Ideological State (i) Antonio
Apparatus (ISA) Gramsci

Hegemony (i) Althusser

Public Sphere (i) Habermas

(iv) Michel
Foucault

Genealogy of
Power

Codes :

(A)
®)
(©)
60)

20.
(a)

®)

(c)

(@

(a)
(ii)
(iv)
@)

(ii)

(b)
@
®
(1)
@

() (d)
(v) (i)
(i) (i)
(iii) (iv)
(i) (@1v)

Structuration theory :

1s a social theory of the creation
and reproduction of social systems

18 a social theory of structure and
functional analysis

believes neither micro nor macro-
focused analysis alone are
sufficient

believes that meso-analysis is
sufficient itself

Codes :

(A)
(B)
(©)
(D)

(a) and (b)
(b) and (¢)
(a) and (c)
(b) and (d)

Paber-III

19. (Bod 8D 8555w :

(a)

(b)
()
(d)

20.

gD Sond
D8DerRES S () wostdBe
SHVLD TPy
B30 (i1) e—sw;‘és
508 RoSHE (i) TraBHE
2der «f iv) DES
555 e’
SSEQ :
@ M (@ @@
(A () @O 3dv @i
B) Gv) @) @) (i)
(C)y @ @G @) Gv)
D) G @) @) Gv)
REyB5e dpodo oI :

(a)

(b

(¢)

(d)

PIres HgEge 5 Hodasw
DIBEBE JowohodS F;Hras
Rposo

DB $OC% (HSBgTe DFRKEtHd
S0n0fodN PEreE drposo
S Toe Spe DD DEROSD.
38 S0 833 DERe PSS QR0
PB06.

B0 Sggs DIes ErED KOO
A0,

555‘350 :

A)
(B)
(©)
D)

(a) S0 (b)
(b) S0 (c)
(a) 0805 (c)
(b) So8a5w (d)
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21.

22.

23.

(a)

(b)

(©

(d

Who among the following used the term
‘McDonaldization’ in reference of
globalization ?

(A) Ulrich Beck
(B) Denial Bell
(C) George Ritzers
(D) David Ricardo

Habermas made a paradigm shift from
Marxist economic production of social
organization to :

A
(B)
(©
D)

Liberal Capitalism
Technology
Communication
Public Sphere

Match List - I with List - I :
List -1 List - II
(Approaches) (Sociologists)

Dialectical S.C. Dube

Approach

W

Structural-
Functional
Approach

(i) G.S. Ghurye

Indological (u1) N.K. Bose

Approach

Civilizational (@iv) D.P. Mukherji

Approach

Select the correct answer from the
codes given below :

(@) (b () ()
@ (v) @) 3G
(v) @ Qi) (i)
(iv) () @O @D
(i) @ Gv) @)

(A)
(B)
(©)
D)

Paper-III
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21.

O SR LA

(SSoDETmB0 )R Ar0E0TaED
DESTSEEIS & HoRY) 4ITTACHIN
&3 Bob TBE° BB ?

(A) @S85 58
(B) ZJcHS BS
(C) =«r§ 845
(D) TDE o’

22, bR JErRy Eﬁéﬁ@qgézéé Bonohodd

23.

(@)
(b)
(c)
(d)

SrEpT 008 BEDX BB Do& HIB 2bY
I8 Scho bR :

(A)  ame8S ?;)é.»ma)&wé 865
(B) ;oEBES

©) ePBHHFso

(D) (SHerdofio

edar -1 eedoe - 11 :

erdge - 11
(Bdme: FHIE)
(1) OHR.2.573
Q8- erEy o (i) BN, 0TS
058.8.6°%%
(v) &.2.500f
& 1BoSASWAS SFho errborr HEES
QPRI D0 ¢

(@) (b) (c) (d)

@) (@v) GiD) (i)

Gv) @ Gi) (ii)

(v) Gi)) @) (@)

(i) @) Gv) (@b

dge - 1
(m80)
fats) wbzfé 8o

BoTrerRES o . (iii)

itatat=ts Cli Catel

(A)
(B)
()
(D)
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30. P.C. Joshi has suggested the following
three approaches to the understanding
of Land reforms :

(a) The Gandhian approach

(b) The Socialist approach

(¢) The Radical nationalist approach
(d) The Democratic approach

(e) The Marxist approach

Select the correct answer from the
codes given below :

(A) (a), (c} and (e)
(B) (a), (b) and (c)
(C) (a), (d) and (e)
(D) (a), (b) and (d)

31. Match List - I with List - II :
List -1 List - I1
(Sociologist) (Contribution)

(a) Andre Beteille (1) Annihilation of

caste system

(b) Yogendra (11) Peasant
Singh struggles
(¢ Dr. B.R. (iii) The ldea of
. Ambedkar Equality and
Inequality
(d} AR. Desai (iv) Contradictions

and challenges of
social change

Select the correct answer from the
codes given below :

(@ (b) (o (d)
(A4) @) Gv) @ (i)
B) G) @H Gv) ()
©) Gi) Gv) @) (@)
O Gv) ) G ©

Paper-II1

30, 3.8, #58 or Jo3Swo ®do

31.

BHsPHeR) SrDodS LareHh dgraren
BB B 2 ?

() rrobchard doeso

(b) 5%6393@&5 Dprdo

(c) TRES >HoHTE geSo
(d) eyl Hoedo

(e) éﬁé@ég AP0

Bob TR BEe S0l IS JSmrrard)
Dol -

(A)  (a), (c) 0B (e)

(B) (), (b) B (c)

(C) (@), (d) DB (e)

(D) (a), (b) 2O (d)

D - 10 Do - I 8 288085 ¢
edae -1
(Bsre RIE)

(a) eo@ 383 (i)

e - 11

(BSken)
@QﬁéﬁS R
R VR
$%085 Brod)
& 08 «D
éasggé)éﬁ ool
0335&575895
SIS
©0& 8o
o5 PBIS Fok
8 (BolASbS 580 wedore pctelastny
QPRI rHB0zHw :

(@) (b) () (d)

(A 1) vy @) (i)
(B) ) @) Gv) (id)
(€ () vy O @)
(Dy Qv) ) 1) @

(b) eRolS of (i)
(¢) o=.9.e5. (iii)
@05

d) D.o5.Bzow (iv)
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32.

33.

Gary Slapper and Steve Tombs have
studied :

(A) White collar crime

(B) Cyber crime

©

Corporate crime

(D) Organized crime

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Child Marriage Restraint Act, 1929 is
also known as Sarda Act because Sarda,
a victim of child marriage committed
suicide.

Reason (R) :

When originally passed, it fixed the
marriage age for girls at 14 years and
that for the boys at 18 years.

Codes :
(A) Both (A) and (R) are correct

(B) Both (A) and (R) are wrong

(C) (A) is correct, but (R) is wrong

(D) (A) is wrong, but (R) is correct

Paper-II1
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32. g0 FE Hbadn {F erofe ergadso :

33.

(A) 3¢ b Joeen

B)

28 Joren

(©) =65 Joren

D) HHRHs Jovew

(808 @S (PBFES (A) DB TPSHDH
(R) o asgrSormr 3DS éémq*m?b&
DothHE%od :

(BOPSES (A)

erey DT DEbess é%o, 192920 =8
éég)o @ Sree Hewdko a8KHS08,
00T LS e erey D erHETReD
e38)s5eEg Boss%0 uBR0B,

EHH (R) :

&SPy Fosse (HITDGIYS ;8o
AT By 14 Sosorenes, eree
AaF HABYH 18 Jodgyoeenncd
QepBoisto 20R0B. -

&g :
(A) (A) 2085 (R) Botd IBXS
(B) (A) 085 (R) Bod IBLD =
(C) (A) 3B38, =00 (R) 588 =oH
(D) (A) IBIB 2%, =2 (R) $BSH
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34. Choose the correct answer based on the

two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Juvenile delinquency can occur in both
rural and urban areas.

Reason (R) :

The transitional areas and slums in
cities are more Vulnerable to it.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
©)
(D)

(A) is correct, but (R) is wrong
(A) is wrong, but (R) is correct
35. Match List - I with List - I1 :
List -1 List - II
(Books) (Authors)
S.C. Dube

(a) Social Change in (i)

Modern India

India’s Changing (i} M.N. Srinivas
Villages

Caste, Class and (1i1) Andre Beteille
Power

Hindu Social
Organization

Codes :
()
(1)
(i)
(iit)
(iv)

(b

(@

(d) (iv) P.N. Prabhu

(b)
(1)
W

(1)
(i1)

()
(iii)
(iii)
(i)
)

(d)
(iv)
(iv)
(1v)
(iii)

(A
(B)
©)
D)

Paper-111

34.

35.

(a)

(b)

(c)

(d)

15

Bots ad)S (BOFES (A) DO TED
(R) © sgrdomr SBI ISegrardy
Do s :

(HEES (A) :

eroldo ©3b (rdup, XS (Froaren
BoloBEhH dotnod.

% (R) :

HBBLS Bo&ézﬁ&@‘o@oé‘sﬁ, Stioredtd

5008 ased®h & %y HEYE essedo
wHBor™ aotnod.

S8y :
(A)
(B)
(9]
(D)

(A) 5805 (R) Both IBSI

(A) 5805 (R) BoH JIBID =
(A) 5858, =D (R) $B38 =%
(A) 5856 =09, 520 (R) $D56

S8 -1 588 - 11 &° 2358508 :
S8 -1 365 -11
({Hopren) (BSoooden)
DS Tof a8 (1)  IOD. 2.&rB
SPEBS soldsr
Bo&dIrR
SoBoh IB=D
svegg, =R wol  (iii)
HR6
$roth BRS
e—3§§§o"35

SGE‘J :

(a)

(1

(11)

(iii)

(iv)

o%0. ghR.
(Bo%
wo@ 888

(i1)

(iv) D.005.150

(b)
(i1)
(i)

(i)
iD

() (d)
(iii) (iv)
(iii) (iv)
@ )
@ i)

(A)
B)
©
D)
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36. Match List - I with List - IT :

List -1 List - I
(Sociologists) (Books)
(a) McKim Marriott (i) Social Change
in India :
Crisis and
Resilience
(b) D.P. Mukhernji (11) Elementary
Aspects of

Insurgency in
Colonial India
Village India :
Studies in the
Little
Community

Modern Indian
Culture

Select the correet answer from the codes
given below :

(@) (b) (o)
) @ Gv)
B @ B
(© Gv) () @)
D) @) Gv) @

(¢) Yogendra Singh (iii)

(d) Ranajit Guha iv)

(d)
(iii)
(1)
W
(ii)

(&)

37.
(a)
(b)

Match the following :
Right to freedom

Abolition of
untouchability

Prohibition of
discrimination (on
the basis of religion,

caste, sex or place of
birth)

Right to Equality
Codes :

(a) (b} (o)
i) @ v
B @ G Gv)
(C) Gi) () (i)
D) © G @

Paper-III

(i) Article 17
(i) Article 14

(c) (iii) Article 19

(d) (iv) Article 15
(d)
(1)
(i1)
(iv)
(iv)

(4)

16

000 O

36. Dor-19 =dor-H & 885505 :

erdar - 1
(B a@ﬁgw)

(a) DB BAHE (i)

® &d3wed (i)

() &rRols BoR (i)

(d) Soas Hde (iv)
8 (BoBARDES &80 &

JSeEeard) HGoHHw !

g - 11
(Hogren)

DPRS Dok and
Bo&cir : BRD
@08 BRBODI)
JOobd
dsv?oo)g) (233
a0SKZY as
55000 S
=Tolators

DBE B0ldir :
$ES oS &
085 E5umsdd
EBR 208D
gend

OO SOGHD

(a) (b) (0 (d)

(A)
(B)
(©)
)

Eod
(a)
(b}

(i) @
(i) @
Gv) @) @)
(i) v) @
B 2285808
%) T (1)
oodiTrlé50
@dﬁ&oé

&, 50,008,
aéééo sprSore
DBES VaosKo
(d) JIrISH Sy (iv
%5, -

(a) (b) (o)
() @) @)
() (i) @(v)
(in) (@ (i)
(H ) @)

W

37.

(©)

(A)
(B)
(€
(D)

(ii)

(111)

(v) (iii)
(iv) (1)

(1)

e0&H86es 17
w8 14

ohHB8e 19

) @bBds 16

(d)
(ii)
(i1)
(iv)
(iv)
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38. Match the following :

Theory of Propounder
Caste Origin
(a) Occupational (i) Majumdar
Theory
(b) Racial Theory (1i) TIbbeston
(¢) Religious Theory (iii)) Nesfield
(d) Guild Theory (iv) Senart
Codes :
(@ (b)) © @
4) @) @ G @
(B) @) Gv) @ @
©) Gy @ (v (i)
D) G (v @ ()
39. Protection of Women from Domestic
Violence Act was enacted in the year :
(A) 1995 (B) 2000
(C) 2005 (D) 2010
40. Theory of ‘Urban Biaé’ was proposed
by:
(A) A.G. Frank
(B) Wallenstein
(C) Lipton
(D) Gordon
41. The Green Revolution was introduced
in India during the year :
(A) 1964 -65 (B) 1966 -67
(C) 1969-70 (D). 1971-72

Paper-II1

38.

()
(b)
(0
(d)

39.

40.

41.

17

& Bod TEY 2EHH ¢
éwo":rséé VRIS &»cs;oé Er5E8
So20dolN &:a;oéo
éﬁéé@_)&é ?oa;oéo (i)
(i1)
FSEBBN ?ocs;oéo (111)
(iv)

208 Kva;oéo

ﬂe§ ?ocs(;oéo
ESEQ s
(a) (b)
(i) @)
(i) (Gv)
(i) @
(i) (iv)

(d)
(i1)
(i1)
(iii)
(i)

(A)
(B)
(C)
D)

Tt Zrod Hold ey SEe S§o
ErrofodS HodEBo

{A) 1995 (By 2000

(C) 20056 (D) 2010

oS 2AES ($K8 DEI°S0) &% RIposeR)
18THDI0 ¢

(A) .8 (a8
(B)
©
(D)

005585
B8

[A]
FEES

aPES BEos® bE Do & R’Joeééf)éoé‘s
PIFeRE0 200G :
(A) 1964-65
(C) 1969-70

(B)
D)

1966 - 67
1971-72
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42,

43.

The main objective of the Deen Dayal
Upadhyaya Gram Jyoti Yojana is to :

(A) Provide round the clock power
(electricity) supply to rural
households, cottage industries and
agriculture.

(B) Provide round the clock power
(electricity) to rural households
and adequate power to

agricultural consumers.

(C) Strengthen the basic
infrastructural facilities in the

villages.

Provide education, health care
facilities and drinking water.

(D)

Daniel Thorner has classified the
agrarian social structure into three
social categories namely :

Tenants and

4)

Landowners,
Artisans.

(B) and

Peasants, Big farmers
Landless Labourers.

©

Tenants, Artisans and Landless
Labourers.

(D) Maliks, Kisans and Mazdoors.

Paper-IT1
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MO

42. 8BS ScirE e (P &58 @wesd

43.

ok (HEPE &Fo -

@A) (rhe MHSFFSSocess, Héd
BOFOH DB HHIcHErIS
SOV Tt Koben DekiHBD H80°
BavEo.

(B) (~Zoes HRPSore Nbodtradhoree,
DX S0l DIBEA TS0
OITEDI0EHEL 558 HHoe

B%h&o.

(C) (réErost SEPBT PETYOD ééﬂ&é

HBBEo.
D) BeoH s, @Ssrggaééé)gn S8a%0
(Brd8 LoD Eosto.

SIS e agisirant Fsras 2682
& ($od Hords FSrag Soz oo
5888007 :

(A)  grchesimden, e D8ckn

Bagke ST,

(B) Bében, 2 SPchrren B
PP KSJaH Erden.

(C) Seorrdhen, BBRHe HIG HBE

B K5 Lrdev.,

D) grohadsrien (Srd8ew), Beboew
(B>Sen) 50650 SasnBen (S

S5 Erdev).
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44.

(a)
(b}
(©
(d)

45.

46.

47.

Match the following :
Revolution
Blue Revolution 1)
Yellow Revolution (i1)
White Revolution (ii1)
Green Revolution  (iv)
Codes :
(a)
@A)
B) @)
© G
(D) @)

Theme
Fishing
Agriculture
Milk

Oil Seeds

(b) (o)
Gv) (i) (i)
(i) Gv) @)
(iv) (i) @)
i) @v) @)

(d)

The Mahatma Gandhi National Rural
Employment Guarantee Scheme
(MGNREGS) was introduced in the
year :

(A) 2004
(C) 2008

(B) 2006
(D) 2009

Which of the following are not related
to the measures initiated under Land
reforms in India ?

(A) Tenancy reforms and ceilings on
Agricultural Landholdings.

Abolition of Intermediaries and
consolidation of Landholdings.
Corporate farming and Land
lease.

Reorganization of Agriculture and
Redistribution of land.

(B)
©
D)

A developmental approach that enables
people to be agents of their own

development can be most appropriately
called :

(A) Ameliorative
(B) Welfarist

(C) Top-down

(D) Empowerment

Paper-III

44.

45.

46.

47,

&8 1800 THY adHBohHskw :

g0 S
(@ Do OHso () Dde Dosso
(b) XD DHSo (i) HgdIaho
(© FS dpBo (i) F& HOEFD
(d) 08 HJo  (iv) I Aoczen
&% :

(a)
Ay @)
B) @
(O @G
(D) (i)

(b)
(iv)
(iii)
(iv)
(iid)

() (d)
(i) (i)
iv) (i)
(i) (@)
vy @

SosBayrrod ar80H does aded 558
SE5Ry oSS0 @’336’"&3%(‘.‘50
28hob ;

(A) 2004
(C) 2008

2006
2009

(B)
(D)

PESBIoS srone Bol 80HF)
S0 Bod RS Dootio BAD d ?
(A) Ten JofPeen, JPHrad SHée
5608 DHOD.

Boggdte D, 450 §58 D88t
5"550)3&» éééé"dﬁ)o, 25080 Doz,
éega’oa"cﬁ) @é;%&’)ﬁ;‘éﬁ, 350 Hodd.

(B)
(©)
D)

(Hesen E5 0HRS 555 B s
@@a@'ésédo 2BIH0B Byl 0P
Derrd) € DFore BYHSY) ¢

(8) ©DHRVEDD

(B) PoFD HEZS

(C) eH-TS

(D) ArHDES
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48,

49,

What ave the three levels identified by
Wallerstein in his world system
theory ?

(a) Edges
(b)
(c)
(d)
(e)
0
Codes :

(A) (a), (c) and (e)
(B) (@), (©) and (d)
(G (), (e) and ()
D) (B, (d) and ()

Periphery
Centre
Semi-Periphery
Semi-Edges

Core

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Gandhi's model of development based
on Sarvodaya Principles.

Reason (R) :

Sarvodaya does not imply the free and
full development of every individual.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

Both (A) and (R} are true, but (R)
is not the correct explanation of

(A)
(A) is true, but (R) is false
(A) is false, but (R) 1s true

(B)

(©)
(D)

Paper-I11
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48. T8RS &3 PHo:S S5 drpodods

49.

HBODDES (GRS Sovtls Ses S (Bod
TS DD 7

(@) R

b) 8B

() “obd

(@) DH-20D8
(&) -GS
H &6

555‘) :
(A)
(B)
(C)
D)

(a), (c) 2083 (e)
(a), (c) SobaS» (d)
(b), (e) o085 (f)
(b), (d) SoBcS ()

{BotS 2 (BEFES (A) S8 T (R)
© eRdore ¥B5 SSrrard) doHsPod

(BBIPES (A) ;

mofcHS ©F)a SR 30 $BEaH
drigreR arrsdd ahudB.

%D R) :

¥’ 5e% 0ol (HHE DoY) TIPS,
éo@c;a‘.)&éag o,

558 :

(A)  (A) 58050 (R) BotH Jerd L8850

(A) (R) 385 D55

(A) 5805 (R) Bo Jerd, =0 (A)
& (R) 588 D586 s

(A) dzo, =8 (R) deso =%
(A) Do 9%, 2D (R) deso

(B)

(©)
(D)
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50. Match the following : 50, & (800 EY 2BHBHIW :

(a) Robert Giplin (i) Dependency (@) 2§ ARS () &boaﬁb 8358
Theory ®
P06 S i
(b) Samir Amin (i1) Unequal ® © (i) @éséa.zgé
Exchange e
(¢) G. Myrdal (ii1) Permissive O 3330;5 (i11) 5’36&?05
Political Order POLES «gb
(d) A.G. Frank (iv) Eurocentrism @ D2 o8 (v) Srsdodas
Codes : | 555') :
(a) (b) (¢} (d) (a) (b) (c) (d)
(A) (i) Gv) @ G1) (A) @i vy @ (1)
® G @) @ O (RGO

(€ Gv) (i) @O (@)
D) ) v) @) )

©€) Gv) (i) & G
D) @Gy Gv) @ @

51, SFSEE (5050, 28 DIwedho Tl GwE)

651. According to Hobhouse, a community D BARraTed §O Hhdotnod ?
develops as it advances its : °

(a) wJegre
(a) Population

53
(b) Efficiency ® 3":{:0@50

; . 3
(¢) Freedom (©) ‘0‘515‘3

(d) Mutuality (d) DBYBS

Codes : 88y

(A) (a) and (b) (A) (a) Hdc™ (b)

(B) (a), (b) and (¢ (B) (a), (b) S0B35w (c)
(C) (a), (b), (c) and (d) (€) (a), (b), (c) Bk (d)
(D) (b), (c) and (d) D) (®), (¢) Hdcw (d)
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52. Identify the indicators used in the

Human Development Index :
(a)
(b)
(c)
(D)
(e) Stable Government
()  DGP per Capita
Codes :

A) (a), (b), (¢) and (d)
(B) (b), (d) and (H

©) (@, (), () and ()
D) (), (c), (d) and (e)

Poverty

Life Expectancy
Growth Rate
Education

53. Expand the term ‘HEP’
(A)
(B)
(©)
D)

Human Environmental Paradigm
High Environmentalism Project
Human Exceptionalism Paradigm
High Environmental Paradigm

54. Match the following :

(a) Ernst Ravenstein (1) Intervening

obstacles

(b) Saskia Sassen (i) Segmented
labour-market

theory
(ii1) Push-Pull
(iv) World-systems
theory of
migration

(¢) Michael Piore
(d) Everett Lee

Codes :

(@) (b) (c)
(iv) (i) @)
(i) Gv) @
(i) @Gv) (i)
(iv) (i) @)

(d)
@
(ii)
@
(1)

@)
®)
©
(D)

Paper-III
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00 A

52. SrI;PH IrIES® DABrA0I
JrQBo HBoked !

(@) $esesgo
®) &8585 ectograbo
(© 5 o
@ Do
(e) "m?gé (23ghek0

(D 8030 dro >dGrHY
555“) .
A)
(B)
©)
(D)

(@), (b), (c) 0B (d)
(b), (d) HBcS (f)

(©), {d), (e) BB (B
(b), (c), (d) oBc5™ (e)

53. ‘HEP Soed) 2505805

() SRS RTTBotS BB
(B) T ARTeRID0rDesH @‘e'ég»

(C) Sl §IRIOaD BB
D) 3° ReIDotd SrEatd

54. & (800 B 2EBHDHIW :
(8) MY ooBSYS (i) mo®wBIOR

8389
(b) S SYS (i) JRBE Sab
Sv)es &cHd
(©) DBSB®E  (1ii) HR-DS
(d) 5B D (iv) S8 23Sy
BHE eH
2SS
§%en : -
(@) (b) (c) (d)
(A Gv) (i) () @)
®B) Gi) Gv) ® @)
(C) (i) G(v) Gi) (@)
D) Gv) @) @ G
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55.

56.

57.

Who gave the basic needs approach of
development ?

(A) Amnesty International

(B) Red Cross Society

(C) International Labour Organization
(D) UN Human Rights Commission

Human Relations Approach in Industry
was propounded by :

(A)
(B)
©

F.W. Taylor
Elton Mayo
Robert Blauner
(D)

Harry Bravermann

Industrial relations are influenced by
which of the following factors :

()
(b)
(c)
(d)

Institutional factors
Technological factors
Social and Cultural factors
Political factors

Select the correct answer from the
codes given below :

(A) (a) and (b) only
(B) (b) and (c) only
(®)

(D)

(a) and (d) only
@), (b, (c) and (d)

Paper-I11
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55.

56.

57.

®)

©)H88 Sow0HodY £08 eddoce
AR (BRE JE) w|@F) HBFB0DEH
& 8ob 08 a5t ?

A)
(B)
©
D)

sl B0LHRIS

35 pé

BOLRNIS Sab e—sgééﬁs
CS0IBE JhHT) TumgHoS Befy BoHS

$HBEHS® s Somorre JPHo JH6T
(Bdrbotaliod ?

A) o9 &ayg Hob
(B) epS Ir@

(©)
(D)

0§ ePRb

B 2R8S

B|EE Donogren 83D & |Bod ST
38 |HerdssoHaon ¢

(a)
(b)
(c)
(d)

& Bosdspas 8o errdorr $o&S
Jregrard) B0

(a) 0B (b) S|P
(b) 508050 (c) Svelead
(a) 0Bk (d) SmSD

603;66 Siteisiton]
FoBBYE SPEsren
RArRE SHBSD éboé&,)aé SeEEeeN

oradcs so¥sven

(A)
(B)
©)
(a), (b), (c) B0 (d)
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58.

59.

60.

Who has written the book “Class and
Class Conflict in Industrial Society” ?

(A)
(B)
(©)
)

Lewis Coser
Ralph Dahrendorf
George Simmel
Max Weber

Population change is primarily based
on:

(a)
(b)
(c)
(d)
(e)
Codes :

(A) (a), (b), (c) and (d)
(B) (a), (b} and (d)

(C) (a), (c) and (e}

(D) (a), (b), (c), (d) and (e)

Fertility

Social development
Mortality

Food supply
Migration

Who among the following are the
proponents of optimum population
theory ?

(a) Dalton
(b)
(©

Carr Saunders
William Godwin
(<_i) Edwin Cannon

{e) Robbins

Codes :

(A) (), (©), (d

(B) (a), (), (d), (e)

(C) (a}, (©, (e

D) (@), (b), (e}, (d), (e)

Paper-III
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58.

59.

60.

A
‘0B wof 8 §535 85 wox§avs
80 [Hofod 258 Eomd ?
(A)
(B)
(©)
)

eron®d EH6
o) GOS8
e DAYS
&rBy B8

BTGP Iy Bersorr 30D errssd
dotnoby ?

() BoerS'Hs
(b) 5"3’.\3"65"5)3‘59%
(c) oSee Bew
@) o8 $8Ho°
(e) Heden
58
(A)
B
©
D)

(@), (), (c) B (d)
(a), (b) 0BcS (d)

(a), (c) H0bc5w (e)

(a), (), (c), (d) LB (e)

& (808 T0&° wPotdadb age Derod
ErSEGe0 IS ?

(a)
(b)
()

=N

55 Froih)
DdsHo 35&55
@ &S B35S
(e) A

555y :
(A)
(B)

©
)

(), (c), (@)

(a), (b), (), (e)
(a), @, &

(a), (b}, (c), (d), (e)
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61.I Find the correct match :

(a) Judith Blake (i) Proximate
variables

(b) Thomas Robert (ii) Geometric

Malthus ratio
(c) John Bongaarts (iii) Intermediate
variables
Codes :
(@) (b) (o)

A) O @) ai)
(B) (i) (i) @)
© G) @ (@w
D) Gi) G @

62, Which of the following is true of the
post-transition stage of population
growth ?

(a) Low Birth Rates
() High Death Rates

(¢} High Birth Rates

(d) Low Death Rates

Codes :

(A) (a) and (b)

(B) (b) and (¢)

(© (c)and (d)

(D) (a) and (d)

Paper-II1

61. & (80D B wSEDHHEW :

(a) e~d& 2§ () (@r&yeS
Sochand)

®) S b (i) BFoDSE
el V]

(c) &ra é‘omg) (11} aoé.aég&dﬁ:éf
35&3»53

%5, :

(@ () (o
Ay @ () (i)
B) () (i) @
©) ) @) (i)
D Gi) Gi) @

62. 2T SO5EToSE 5365 & (Bod
TS DD SgEn ?

(@) ¥Jg ssTo By
(b) KoY Hbere Biy
© K63 axdave Bey
(d) £5 Sobere Séy
5 :

(A)  (a) SBc5 (b)

(B)  (b) 805 (c)

(C) (c) $Bai» (d)
(D)  (a) B (d)
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63.

64.

65.

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

In India, sex ratio is the number of males
per one thousand females.

Reason (R) :

The sex ratio of tribal population in
India is favourable to females.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong
(D) (A) is wrong, but (R) is correct

In which year did the Indian
Government adopt the policy of
population planning ?

(A) 1950 (B) 1951
(C) 1952 (D) 1953

Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

The actual number of male babies born
is always higher than that of the female
babies.

Reason (R) :

Starting from conception, the mortality
rates of males is higher than those of
the females.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong
(D} (A) is wrong, but (R) is correct

Paper-II1
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63.

64.

65.

G

Bots A (HBFES (A) 000 HP (R)
o eEPdore $8% SEPTPr) dobsod :
(BBES (A) :

E5G 50 DoKIRB GNP (H8 DongSood
o Ko HHhde Sogy

&% (R)

PESBESRD ABaS Brie Dol AYS o
wosreore 4od.

-
(A)
(B)
©
8

(A) 805 (R) BodH $BSS

(A) H805 (R) Both ITHD 599
(A) 5858, =2 (R) 35856 s
(A) 536 =%, 520 (R) 586

gr8S Hehdo D oS50 axryr

o955 H000B0NS PR evendts

8580 20A00 ?
(A) 1950
(C) 1952

(B) 1951
(D) 1953

Bots B BBFES (A) S0 THPH (R)
o sgrdore $08 BErrard) dosiod :
SBIES (A) :

FRIDEore HRdol BHJ 23a0e0
dopsr §ook 8HHe wdTe ¥ob
[T GoeTow.

rdH (R) :

TsB Dol HHhe Hire T o3
Go SHiere Bén Lol &S Gotnod.
5'55‘3 :
(A)
(B)
©
(D}

(A) 06050 (R) Botd $BII

(A) 08050 (R) Bot $BID 5°H
(A) 5858, =0 (R) $BSH =
(A) 5858 2%, =0 (R) $858
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66. Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Fertility denotes the number of children
born to a woman.

Reason (R) :

A woman may be fertile but not fecund.
Codes :

(A) Both (A) and (R) are correct

(B} Both (A) and (R) are wrong

(C) (A)is cérrect, but (R) is wrong

(D) (A) is wrong, but (R) is correct

67. Choose the correct answer based on the
two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

Guiliard is considered as the father of
demography. .

Reason (R) :

He was the first to coin the word
‘demography’.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C} (A) is correct, but (R) is wrong

(D) (A) is wrong, but (R) is correct
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66.

67.

o adys (SOIES (A) S8y Trdd
(R) o sgedore 338 .Széoqumx)&
dothsol ;

(BHOISES (A) ¢

BoarS’%)B o3 o8 §8 aoas sH9e
Ddoggd Srd%os.

THH R) :

28 @ SoarsH)8 489 EOAot0d S5
S5 48 TIREES SO,

S

(A) (A) $08c (R) Botd ¥

(B) (A) 5805 (R) Botd $BX =5
(C) (A) 3B%8, 0 (R) $BIB =0
(D) (A) 3BR6 =0, =) (R) $p%6

8o 2y (BEIES (A) S0 TG (R)
© sprdore ¥38 JSErrard) oHsod

(BHEES (A) :

REPBD 23ToeR B DB DIV GO
D (R) :

BPEP TR HB0H ©dHSS B
TR,

&5 :

(A)  (A) Sbdao (R) Botd $853

(B) (A) %585 (R) Botd IS =2
(C) (A) B3, s°J (R) $856 o
(D) (A)$BH6 52, =D (R) 5858
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68. Choose the correct answer based on the

two statements, Assertion (A) and
Reason (R) given below :

Assertion (A) :

The mean age of the population of India
is high.

Reason (R) :

India has a high population growth
because its population is old.

Codes :

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong
(D) (A) is wrong, but (R) is correct

69. Match the following :

(a) Fight to promote (i) Medha Patkar
Government
transparency

(b) Anti-arrack
Movement

(i1) Irom Sharmila

(¢) World’s longest (iii} Aruna Roy
hunger striker

(d) Narmada
Bachao Andolan

Codes :

(@ (b) () (d)
@) vy @O W)
v) @) @@ 4y
(iv) i) ) @
i) @v) ) @

(iv) Dubagunta
Rosamma

(A)
B)
(©
)
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68. (8085 BN HBIES (A) PO FHP

(R) © strdore $85 JErerard) Jod
&%8 :

(DEPES (A) :

EEBE adrge BoE) St HaABY
efsrorr &5,

D (R)

PSSR Ios® H)ge avrer edlore dolko
Soreore aTegr e Ben wbSorr
a90.
g8y :
(A)
(B)
(%)
(D)

(A) %8050 (R) Botd $BIS

(A) 208050 (R) Both JBHD =H
(A) 8358, SPA(R) SBID 5o
(A) B850 =%, =0 (R) 956

69. & (BoB B RSBEHID ;

(a) Hepsos®
Fssss Sso

(i) o renb

foeiio
(b) oo HHTE (1) =8° JGe
&350
(©) HdosSost (iii) eotoes B
@éé@é &Paren
Qoessts HETS
%%
(@) 3G oS (iv) Srarbot
so8°ES 884y
?Eg :
(@ ((b) ()
A G (v O
(B) Gv) Gi) G G
(€) @(v) Gi) G) @
D) @i @Gv) 3G @
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70. Which of the following has studied the 70. Fanydy SSra0s FORH B0

Vanatinai tribe where the gender roles
are reversed compared to the Western o dorfdr|gen SBOS o éod

Society ? STFEI00 ©F Abud 34D X809

OFEohso BIO & (Bod B IS5 ?
(A) Ruth Benedict

A) &8 BIAEE
(B) G.H. Mead

(B) &35 &&
{C) . Margaret Mead

) (C) &m58es HE
(D) Dian Fossey @

(D) saseS Dby

71. Match the following :
. . 71. 808 TEY wEHtHE ;
(a) UN Commission for (1 1992

th t f
¢ status of women (1) Sirfo RBRHLD () 1992

(b) Ram Rajput (i) 2014 0GOS ERS

Committee interim .

report relating to b) o ovcSHS (il) 2014

women gnd dodrdoz
(© National (i) 1996 Bgoss vIBE

Commission for

women () e»&a% (i) 1996

‘ HEr¥ BonS
(iv) 1946
(iv) 1946
Codes :
585.;) .
(a) (b) (c)
(a) (b) (¢)

@ ) @ @) v G 6
B v Gi) G ®) (v) Gi) Gi)
© Gi) G) i) © Gy @ G

D) @ () (iii) M @ G (i)
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72. Match the following :

(a) 1980 (i) Special Session of the UN
General Assembly on
women

(b) 1995 (ii)) Copenhagen World
Conference on women

(c) 2000 . (iii) Beijing World Conference
on women

(d) 1985 (iv) Nairobi World Conference
on women

Codes :

(a) (b) (¢ (d)
(A @) @) @ @)
B) (1) @) vy @
(©) @iy @) @ @)
O @i G G O

73.

Match the following :
(a) Nirbhaya Act (1) 2005

(b} National Commission for (ii) 1961
Women Act

(¢) Dowry Prohibition Act (111) 2013
(d) Domestic Violence Act  (iv) 1990
Codes :

(a) (b)
@) (v)
(iv) (i)
i) (v)
Gv) (i)

(c)
(i)
(11)
(i)
(@

(A)
B)
()
D)
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73.

A L

72. & (808 B 2BHBHW :

@) 1980 (i) Sofr¥e B cin.dSS.
w68 eod) (H8gE
BErS¥o

(b) 1995 (i) oZFe S SBISNS
BB B

(€ 2000 (iii) So2r€e HBoR BHos
B3y

) 1985  (iv) Sotrte 1S D @SHos
B3y

55, :

(a) (b) (o) ()

(&) G @) @

® Gy Gi) Gv) @

(©) i) @ @ @)

D) i) G Gv) @

& 8od TAI 2EDB8HIN ¢

(a) DS Sk i) 2005
(b) wrdodH Hieer (i) 1961
K088 $40

(©) HBSey Ao So (i) 2013
(@) e Bood Sgo () 1990
5, :

(@ (b) (c) (d)
(A4) Gi) Gv) @ @
B) Gv) @) @ O
© i) (v) & @)
@) Gv) @) O W)
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74. Choose the correct answer based on the
? two statements, Assertion (A) and

Reason (R) given below :

Assertion (A) :

Patriarchy refers to the domination of
the males in all spheres in society.
Reason (R) :

In recent times, gender is considered as
one of the dimensions of social

stratification.
Codes :
(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A) is correct, but (R) is wrong
(D) (A) is wrong, but (R) is correct
75. Match the following :
(a) The house work that (i) Glass
women have to do after ceiling

paid work
(b) Refers to the oppression (i) Gender

of black women typing
(¢} A barrier that prevents (iii) Tripple
women from achieving oppression

highest positions

(d) Men and women are (iv) Second

Concentrated in different shift
occupations
Codes :
(@ (b) () (@)
A @v) (i) @ G)
(B) (i) @(v) @) @)
(C Gv) i) Gi) @
(D) (i) (v () @)

-00o0-
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74. (B0t BN (BBES (A) o060 THPH (R)

75.

© eErBorT ¥8% JErrard) Domstod |

(RPEIPES (A) '

HEFs0E 55 008 Jivaod® ol ¥
Borreod® HHde QD0 soko.

% (R) :

38350 eod® doro oI I Iokwes

$688es BwE) 2.8 <‘.5Q§‘"‘2§aon° emdosEo
2300008,

g%, :
(A)
®)
(®)
(D)

(A) $80i0 (R) BotH IBHS

(A) 508050 (R) Both DB5D 50
(A) 5858, 520 (R) $BS8 =%
(A) 5858 529, = (R) 3B

&8 80D B 28H5%HED :
() S8308° %r&83 50 () S

3% SHhaed § b $00R
1 Dowogsd
Sded JgPosto

b) Se=rs (e (i) BokE
0edVEH WrIoB B2ofR

(c) Hodren aF SdHen (1il) BHS
088 erosHom Fd SRS
@LHOSPen
(d) DHBoHen B (iv) 2¥ol
Qe 905 Hhes® 25
?50@%&@_3 dswoiso
%8, :

(a) (b) (o} (d)
(A Gv) (i) () (@D
B) (i) Gv) (@) (i)
©€) Gv) i) (i) @)
(D) Gi) Gv) () @
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